50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42-+8
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a.

! (05 Marks)
51gnal x(n) is shown in Fg Ql(b) sketch the signal y(n) = x(n)u(2 —n).
| ir

Flg Ql (b) (05 Marks)
€. Sketch the even and odd ‘Ic%mponent of the signal s shown in Fig.Ql (c)
(10 Marks)
. OR
n “‘time signal is periodic or not. If periodic, find its
fundamental'p Srbd x(n) = (-1)"&) (05 Marks)
5. Find the average power of the trxangular wave shown in Fig.Q2(b).
wL =)
Cg
et Fig.Q2(b) (05 Marks)

c. Forthe fo lowmg discrete-time system, determine whether the system is :
(ii) Time-invariant (iii) Memoryless (iv) Causal (v) Stable (10 Marks)
1of3
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Module-2 B,
3 a. Consider a continuous-time LTI system with unit 1mpﬁlée response h(t) = u(t) and input
x(t) = ¢ ™ u(t); a> 0. Find the output y(t) of the sysmm (10 Marks)

b. Find the natural response of the systetf% described by difference equation
(10 Marks)

(n)——y(n 1)——y(n 2) =x(n)+x(n-1 w1th y(-1)=0and y(—2)

£ “OR
4 a. The output and the input of an LTI ngstem is related by
y(n) = 0.8x(n + 1)+ 0.8x(n) - 0 n—1)
(1)  Find the impulse responsé of the system
(ii) Is the system memoryless?
(iii) Is the system caus 1

) Fmd the output i if n) un+1)—um-3).. ) (12 Marks)
anél direct form IT impleme tation of the system

(08 Marks)

5 a
2 (06 Marks)
b. Zetu(t-1), ﬁnd the expression for
magnitude and phase spec a o U s (08 Marks)
¢. What are the propertles ofCTFT? Bneﬂy exﬁlam. » (06 Marks)

(10 Marks)
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7 a. Determine

Wm

(i) and (ii) te :
& wﬁ\ XChw
. R
-4
. Fi1g.Q7(a)(1) Fig.Q7(a)(ii) (10 Marks)
b. Compute the DTFT of the signal x(n) =2"u(-n). (10 Marks)
2 of 3
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OR

Ry,
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Obtain the frequency response and lmpulse response of the system havmg the output y(n) for

m h
B,

2+3jo-3(jo)’

A T

by partial fraction expansion

initial condition y(—l) = 1.

Determine the step response of the system (

u(n) (10 Marks)
_,,response

(10 Marks)

2@“ n}u(n) Plot the ROC.

(10 Marks)
X,(n)=u(n)-u(m-6). Use

(10 Marks)
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10 Marks)

(10 Marks)




